0.99 1
0.98 1
0.97 1
0.96 1
0.95 1
0.94 1
0.93 A

2-hr | 2-hr | 4-hr | 4-hr | 6-hr | 6-hr | 8-hr
unit | pers | unit | pers | unit | pers | unit

‘ @% correct

i i i nit | pers
1 1 1 |0.958 1 |0.958 1 |0.958 ‘l%correct

Cig/Vis % correct

0.995 1
0.99 1
0.985 1
0.98 1
0.975 +
0.97
0.965
0.96 1

SECTOR 1

P

1 ,
0.99 1
0.98 1
0.97 1
0.96 1
0.95 1
0.94
0.93 A

TSTM/TURB/ICE % correct

‘ @% correct

i

l 4
0.995 1
0.99 1
0.985 1
0.98 1
0.975 +
0.97
0.965 A
0.96 1

SECTOR 2

P

1 4
0.99 1
0.98 1
0.97
0.96 1
0.95
0.94

TSTM/TURB/ICE % correct

' Cig/Vis % correct

l 4
0.995 1
0.99 1
0.985 1
0.98 1
0.975 1
0.97
0.965 A

0.93 - 0.96 A
unit | pers | unit | pers | unit | pers | unit | pers
(@m%correct| 1 | 1 | 1 Jo.958) 1 |0.958 1 [0.958 [m% correct
SECTOR 3

P

1 4
0.99 1
0.98 1
0.97 1
0.96
0.95
0.94
0.93 A

TSTM/TURB/ICE % correct

‘ @% correct

i i i nit | pers
1 il 1 10958/ 1 [0.958 1 |0.958 ‘.%correct

' Cig/Vis % correct

l 4
0.995 1
0.99 1
0.985 1
0.98 1
0.975 +
0.97 1
0.965
0.96 A

SECTOR 4

-

1 4
0.99 1
0.98 1
0.97
0.96
0.95
0.94
0.93 A

TSTM/TURB/ICE % correct

@% correct

i i i it | pers unit | pers | unit | pers | unit | pers | unit
1 i 1 |0.958 1 |0.958 0.958 ‘-%correct 1 i 1 (0975 1 [0.95| 1

' Cig/Vis % correct

l 4
0.99 1
0.98 1
0.97
0.96 1
0.95 1
0.94 1
0.93 1
0.92 A

2-hr | 2-hr | 4-hr | 4-hr | 6-hr | 6-hr | 8-hr




SECTORR

1
0.99
0.98
0.97
0.96
0.95
0.94
0.93

TSTM/TURB/ICE % correct

®% correct

1 .
0.995 A
0.99 1
0.985 A
0.98
0.975 A
0.97
0.965
0.96 A

Cig/Vis % correct

2-hr
unit

2-hr
pers

4-hr
unit

4-hr
pers

6-hr
unit

6-hr
pers

8-hr
unit

8-hr
pers

B% correct

0.975

KPOB

1
0.99
0.98
0.97
0.96
0.95
0.94
0.93

TSTM/TURB/ICE % correct

pers

‘ B% correct

1 1 |0.958 1 |0.958

1 =
0.99
0.98 1
0.97
0.96 1
0.95 1
0.94 1
0.93 1
0.92 A

2-hr
unit

Cig/Vis % correct

2-hr
pers

4-hr
unit

4-hr
pers

6-hr
unit

6-hr
pers

8-hr
unit

8-hr
pers

W% correct

0.975

0.95

IFR / VFR OUTLOOK

1
0.99
0.98
0.97
0.96
0.95
0.94
0.93
0.92
0.91

IFR / VFR OUTLOOK % correct

B% correct




